
K1065-0708

SAVE THESE INSTALLATION INSTRUCTIONS FOR FUTURE REFERENCE

AND IN THE EVENT YOU NEED TO ORDER A REPLACEMENT PART.

RECORD THE MODEL#___________________GLASS____________FINISH__________

FROM THE PRODUCT LABEL ON THE PACKAGE

IF YOU NEED REPLACEMENT PARTS OR HAVE INSTALLATION QUESTIONS, 
PLEASE CALL OUR CUSTOMER SERVICE REPRESENTATIVES.

WHEN CALLING FROM USA, CALL 800-355-5397
MONDAY - FRIDAY 8:30am - 4:00pm EASTERN TIME.

WHEN CALLING FROM CANADA, CALL 888-304-4388
MONDAY - FRIDAY 8:00am - 5:00pm EASTERN TIME.

Installation Instructions
Shower Enclosures: Frameless Pivot Door



SHOWER

ENCLOSURE

14

15

13

9

13

15

A2

9

4

14

3

1

10

11

11

* if needed

OUTSIDE

12

10

10
5

10

10

A7

10

13

or

8

7
2

22

6

21

Top Glass Clamp Assembly

(A1, A3, A5, A6)

Bottom Glass Clamp Assembly

(A2, A3, A5, A6)

16

17

or

14



3 Pivot Wall Channel

7 Drip Shield

5 Adjustable

Wall Channel

4 Magnetic Jamb

6 Wall Filler

8 Seal Strip

If you need replacement parts, do not return the Shower Enclosure 

to the store, call us toll free for an immediate, courteous response. 

When ordering replacement parts, please specify 
the Model Number, Item Number & Part Description

To help identify the proper parts, please refer to the last page for Illustrations of

Parts. 

Assembly hardware is shown throughout the Installation Instructions, 

at actual size, for ease of identification.

Additional Screws and Wall Anchors are included 
in the Parts Bag for your convenience. 

*    If necessary (Check SPECIFICATIONS TABULATION on next page)
**   Only one Track Endcap is needed, depending on whether the door is hinged  

on the LEFT or RIGHT.
***  Knob / Handle shown may differ from the one supplied with your model

Part Description Qty.

1 Door 1

2 Bottom Track 1

3 Pivot Wall Channel 1

4 Magnetic Jamb 1

5 Adjustable Wall Channel 1

6 * Wall Filler (If Applicable) 1

7 Drip Shield 1

8 Seal Strip 1

9 Pivot Bracket 2

10 Wall Anchor 8

11 #10 x 1 1/4" lg. Flat Head Screws 5

12 2.5mm Allen Wrench 1

13 M 5 x 6mm Long Set Screw 2

14 #8 x 3/8" Long Screw 5

15 Nylon Bushing 2

16 ** Track Endcap (Left Hinged) 1

17 ** Track Endcap (Right Hinged) 1

18 Track and Door Install Block 1

19 #10 x 2 1/4" Long Screw 3

20 #10 x 1 1/4" Long Screw 3

21 Adjustable Top Cap (Set) 1

22 *** Knob / Handle Set 1

23 Magnetic Wall Jamb Kit 1

A 1 Top Pivot Clamp 1

A 2 Bottom Pivot Clamp 1

A 3 1/4-20 x 1/2" Button Head Screw 4

A 4 5/32 Allen Wrench 1

A 5 Two Hole Bushing 2

A 6 Logo Cap 2

A 7 Glass Clamp Splash Guard 1

Item #

2 Bottom Track



Wall Filler Required

If Opening is Between

25 1/2” to 26 1/2”

29 1/2” to 30 1/2”

32 1/2” to 33 1/2”

35 1/2” to 36 1/2”

A - Safety glasses.

B - Measuring tape.

C - Pencil.

D - Hack saw (with 32 teeth per inch blade).
E - Miter Box or Square.

F - Level.

G - Electric Drill.

H - Center punch.

I - Drill bit, 1/8” (for installation on a fiberglass 
enclosures)
Drill bit, 1/4” masonry (for installation  on
ceramic tiles or marble)

J - Power screwdriver or a #2 phillips screwdriver.

K - #2 phillips screwdriver

L - Caulking gun

M - 2.5mm Allen Wrench (included)

N - 5/32” Allen Wrench (included)

Pivot Door

Width Dimension

24”

27”

30”

33”

Fits in the Following Opening

(Minimum - Maximum)

23 3/4” to 26 1/2”

27 3/4” to 30 1/2”

30 3/4” to 33 1/2”

33 3/4” to 36 1/2”

SPECIFICATIONS TABULATION

Unpacking:
Care should be taken when unpacking your Shower Enclosure. Place the Door in an upright, safe location to avoid 

damage. 

Cleaning:
Never use scouring powder, pads or sharp instruments on metal work or Door. We recommend the use of a squeegee after

each shower to eliminate water spots on the inside of the Door. 

An occasional wiping down of the Door and anodized aluminum parts with a mild detergent, diluted in water, is all that is

needed to keep your Shower Enclosure looking brand new.

Carefully read the Installation Instructions BEFORE you start. This will enable you to become familiar with the installation

sequences and the required tools.

Tools Required 
For installation of your Shower Enclosure, you will need the following tools:

Materials Required
For installation of your Shower Enclosure, you will need the following materials:

A - Silicone sealant.



Please note; the hinge side of the Door should be OPPOSITE the

Shower Head when possible.

Use these sketches as a guide to determine which side of the

Shower Enclosure your Door should hinge.

Please note, this Shower Enclosure Door only swings OUTWARD.

Be sure to allow enough room for it to open.

WARNING :  SAFETY GLASSES SHOULD BE WORN AT ALL TIMES.

Shower head on RIGHT, 

hinge Door on LEFT.
PIVOT WALL CHANNEL ON LEFT.

Shower head on LEFT, 

hinge Door on RIGHT.
PIVOT WALL CHANNEL ON RIGHT.

1

14 

ACTUAL SIZE #8 X 3/8”

LONG SCREW

13 

ACTUAL SIZE M5 X 6MM

SET SCREW

2

SKETCH 2

BOTTOM

3

13

9

14

Left-side hinging shown. 
Reverse for Right-side hinging.

SILICONE SEALANT

Please note, DO NOT use a power

screwdriver, use a #2 phillips head

screw driver. 

WARNING: DO NOT OVER TIGHTEN.

Apply a generous amount of silicone sealant to the inside edge of the Pivot Wall Channel, as shown in SKETCH 2.

Slide the Pivot Bracket to the bottom of the Pivot Wall Channel and secure with a #8 x 3/8” long Screw, as shown in SKETCH 2.
Use a #2 Phillips Head Screw Driver to tighten. 

Then insert a M5 x 6mm Set Screw and tighten with the 2.5mm Allen Wrench provided, as shown in SKETCH 2.  Check to ensure

silicone sealant completely fills all voids between Pivot Bracket and Pivot Wall Channel.



3

Drill mounting holes at marked locations:

When mounting to ceramic tile, use a 1/4”  masonry drill bit.

Nick the ceramic tile surface at the mounting hole locations with

a center punch. 

After drilling, insert Wall Anchors. 

When mounting to a fiberglass enclosure, use a 1/8” drill bit.

Wall Anchors are not required.

Secure Pivot Wall Channel to wall with #10 x 1 1/4” long Flat

Head Screws.

11 

ACTUAL SIZE #10 X 1 1/4” long FLAT HD SCREW

SKETCH 3B

Pivot Bracket 

must be on

bottom.

W
ID

E
S

ID
E

O
F

P
IV

O
T

W
A

LL
C

H
A

N
N

E
L

M
O

U
N

TS
TO

W
A

R
D

S
O

U
TS

ID
E
.

10
11

3

L
E

V
E

L

Pencil

Note: For some fiberglass Shower

Enclosures, the bottom of the Pivot Wall

Channel may need to be “rounded” by

filing to fit.

Position the Pivot Wall Channel against the wall with the wide side of the extrusion facing outside the shower.  Center the Pivot Wall

Channel on the ledge.

Using a level to make sure it’s plumb, mark the five hole locations with a pencil, as shown in SKETCH 3B. 
Remove Pivot Wall Channel.

3 9

SKETCH 3A

Left-side hinging shown. 
Reverse for Right-side hinging.



For some fiberglass / acrylic Shower

Enclosures, the non-hinge end of the

Bottom Track may need to be “rounded” by

filing to fit.

Measure the finished wall-to-wall distance,  DIMENSION D,

in the center of the Shower Enclosure Ledge.

If a steel tape is used, be sure to add the width of the

case to the measurement. 

Subtract 4” from DIMENSION D, this is your Track

Dimension.

At this point, re-measure the wall-to-wall distance,

DIMENSION D, and   re-check subtraction, to be certain of

the correct Track Dimension.

“MEASURE TWICE, CUT ONCE”

Measure the “Track Dimension” along the length of the

Bottom Track. Carefully cut the Bottom Track. 

Please note, to obtain the best results, use a 32-teeth

per inch Hacksaw blade and a Miter Box.

D
IMENSION D

LEDGE

4

5

SKETCH 5

Apply a Bead of Silicon Sealant along length of Bottom Track in the groove on the underside of the Bottom Track as

shown in SKETCH 5.

Apply a bead of Silicone

Sealant at this location



Ledge

Bottom Track

Outside

SKETCH 6B

Remove the Release Film from the bottom of the Track and Door

Install Block.

Install the Track and Door Install Block over the Bottom Track,

placing it approximately 8” from the non-hinge end of the Bottom

Track, as shown in SKETCH 7A. 

Please note, the Track and Door Install Block serves two purposes:

It holds the Bottom Track in position during the installation process and

also helps support the weight of the Glass Door while it is installed.

This block will be removed after Installation is completed.

SKETCH 7A
8”

Track and Door

Install Block

Ledge

Track and Door

Install Block

RELEASE FILM

Slide the appropriate Track EndCap (Left Hinged or Right Hinged) onto the hinge side of the Bottom Track.

Position Bottom Track and Track End Cap over the Pivot Bracket with the HIGH SIDE of the Bottom Track located towards the outside.

The Track End Cap will slide over top of the Pivot Bracket, as shown in SKETCH 6B.

Slide the Bottom Track out of the Track End Cap until the opposite end touches the wall.

ADD A BEAD OF SILICONE SEALANT ALONG THE ENTIRE EDGE WHERE THE BOTTOM TRACK MEETS THE WALL. 

6

7

Track End Cap
Apply a bead of silicone sealant around the

entire bottom edge of the pivot bracket,

as shown in SKETCH 6A and 6B.

SKETCH 6A
SILICONE SEALANT



5 6

8

19 

ACTUAL SIZE #10 X 1 1/4” long SCREW

USED WITHOUT WALL FILLER

20 

ACTUAL SIZE #10 X 2 1/4” long SCREW

USED WITH WALL FILLER

SKETCH 8C

.
14 

ACTUAL SIZE #8 X 3/8”

LONG SCREW

SKETCH 8A

HIGH SIDE

Outside

First

“STEP”

Ledge

5

10

20

19

5

2

18

L
E

V
E

L

OR

SKETCH 8B

Pencil

Inside

Enclosure

SKETCH 8D

4 5 6

Please note, the Magnetic Jamb & Adjustable Wall Channel may be partially

assembled. If so, remove felt pad and screw and separate for installation.

Position the Adjustable Wall Channel on the Bottom Track at the first “STEP”,

as shown in SKETCH 8A. 

Using a level to make sure it’s plumb, mark hole locations with a pencil, as

shown in SKETCH 8B.

Remove Adjustable Wall Channel.

Drill mounting holes at marked locations. 

When mounting to ceramic tile, use a 1/4”  masonry drill bit. Nick the ceramic tile

surface at the mounting hole locations with a center punch. 

After drilling, insert Wall Anchors. 

When mounting to a fiberglass enclosure, use a 1/8” drill bit. Wall Anchors are not

required.

Secure Adjustable Wall Channel to wall with #10 x 1 1/4” long Screws.

Please note, if according to the SPECIFICATION TABULATION, a Wall Filler is

necessary, position the Wall Filler against the wall behind the Adjustable Wall Channel,

as shown in SKETCH 8B.
Secure both to wall with #10 x 2 1/4” long Screws.

Wall Filler Requirements:
Only use Wall Filler (6) if DIMENSION D measurement falls within 1” of maximum open-

ing as listed in the SPECIFICATION TABULATION.

Example: On Pivot Door 27”, if DIMENSION D was between 29-1/2” and 30-1/2” then

the Wall Filler is required. 

When using the Wall Filler, #10 x 2-1/4” long Screws MUST be used instead of the #10

x 1-1/4” long Screws. 

Insert the Magnetic Jamb into the Adjustable Wall Channel, as shown in SKETCH 8D. 

Secure with #8 x 3/8” long Screws. Do not tighten at this time. This will be completed

at final adjustment.



Place Door on the floor with the metal edge

on the bottom.  

Install Seal Strip along glass edge, ensuring

that the lip of the seal strip faces away from

the side of the Door with the exposed

magnet, as shown in SKETCH 9A.

9

SKETCH 9A

Magnet this side

Lip of Seal Strip faces away from magnet side of panel

CLAMP AND SEAL STRIP INSTALLATION

Attach Top and Bottom Pivot Clamps to

Door, making sure that the ADJUSTMENT
SCREW HEADS are facing the edge of the

glass, and the front of the Clamp is facing

the side of the glass without the brown

magnetic strip, as shown in SKETCH 9B.

Place the Two Hole Bushing through the

holes in the Door.  Tighten to the Pivot

Clamps with the 1/4”-20x1/2” screws, using

the 5/32” Allen Wrench provided.

Do Not over-tighten screws.

SIDE

VIEW

A 3 

ACTUAL SIZE 1/4-20 X

1/2” LONG SCREW
SKETCH 9B

ADJUSTMENT SCREW HEADS
facing towards edge of glass



14 

ACTUAL SIZE #8 X

3/8” LONG SCREW

13 

ACTUAL SIZE M5 X 6MM

SET SCREW

DOOR INSTALLATION

10

15

BOTTOM OF DOOR

VIEWED FROM INSIDE

SHOWER ENCLOSURE.

Pivot Pin

9

2

9

14

13

3

Pivot Pin

Begin at the bottom Pivot Bracket location.

Insert a Nylon Bushing into bottom Pivot Bracket, as

shown in SKETCH 10A.

The following step may require the help of a second

person to help support the weight of the door. 

Insert the Pivot Pin on the bottom Glass clamp into

Nylon Bushing, as shown. 

Please note, after the the Pivot Pin is inserted, the

door may be rotated to the closed position so that the

bottom of the  door rests on the Track and Door Install
Blocks.

TOP OF DOORTo Secure the TOP of DOOR, slide Nylon Bushing onto the

Pivot Pin, as shown in SKETCH 10B.

Guide the Pivot Bracket down so that it mates with the Pivot

Wall Channel and at the same time captures the Nylon

Bushing on the Pivot Pin.

Secure the Pivot Bracket to the Pivot Wall Channel with a

#8 x 3/8” Screw using a #2 Phillips Head screwdriver.

Then insert the M5 x 6mm Set Screw and tighten with the

2.5mm Allen Wrench provided.

Remove Track and Door Install Blocks.

Please note, DO NOT use a power screwdriver. 

Use a #2 Phillips Head screwdriver and 

the 2.5mm Allen Wrench provided. 

WARNING: DO NOT OVER TIGHTEN.

15

SKETCH 10A

SKETCH 10B

VIEWED FROM INSIDE

SHOWER ENCLOSURE.

11 If not already pre-installed, Install Magnetic Strip into Magnetic Jamb per Installation Instructions included in the

Magnetic Strip Package.



SKETCH 12C

SKETCH 12B

Please note, DO NOT use a power screwdriver. 

Use a #2 phillips head screw driver. 

WARNING: DO NOT OVER TIGHTEN.

14

3/16”

4

5

1

Door adjustments are made with the Adjusting Screw

on the Glass Clamps, as shown in SKETCH 12A. 

Open door and use a Phillips Head Screwdriver to

adjust.

Turn clockwise to move door out.

Turn counter-clockwise to bring door in.

For proper operation, there should be a 3/16” gap between the

Door and Magnetic Jamb, as shown in SKETCH 12B.

Additional adjustments are made with the slots in the Magnetic

Jamb, as shown in SKETCH 12C.
Once it’s properly adjusted, tighten ALL Screws.

VIEWED FROM INSIDE

SHOWER ENCLOSURE,

DOOR SHOWN OPEN.

SKETCH 12A

13 Install Knob / Handle per Installation Instructions included in Knob /Handle package.

DOOR ADJUSTMENT

12

CLOCKWISECOUNTER-CLOCKWISE



Install the Top Caps as shown below.

If you have not used the Wall Filler, install parts A

& B, as shown in SKETCH 16A.  
If you have used the Wall Filler, install parts A & C,

as shown in SKETCH 16B.

SKETCH 14B

INSIDE
OUTSIDE

14

16

SKETCH 16B

SKETCH 16A

A

B

A

B

Make sure that the

Glass Clamp Sweep

is facing the inside

of the shower.

15
Attach the Glass Clamp Sweep by pressing it onto the

groove as shown in SKETCH 15A.
Install Logo Caps onto the Two Hole Bushings at the top

and bottom clamps by pressing them on as shown in

SKETCH 15B..

SKETCH 15B

SKETCH 15A

Notch the Drip Shield on one end in order to cover the

magnetic strip as shown in SKETCH 14A .   

Attach the Seal Strip to the bottom of the door, as

shown in SKETCH 14B.  If necessary, cut down to

required length.

SKETCH 14A



VIEWED FROM

INSIDE OF SHOWER

ENCLOSURE.

SKETCH 17A

SILICONE SEALANT

17

Fill gaps with Silicone Sealant

at all screw locations, as

shown.

Apply Silicone Sealant along seams where Wall Jambs meet walls and Bottom Track meets shower sill, as

shown in SKETCH 17A. 

If Wall Filler is used, apply Silicone Sealant on seam between Wall Filler and Adjustable Wall Channel.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


